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18 X% Bg 3 1 3 2 2 20
20 MME ZEt 6 6 6 5 6 6.0
22 INFFSF FOI= 4 6 .0
8 H Quick step
7 RiE R 4 4 4 4 4 40
14 FIE Kib 2 3 2 3 3 30
16 EF E& 1 2 1 1 1 1.0
18 X¥ HE 3 1 3 2 2 20
20 MME ZEt 6 6 6 6 6 6.0
22 INFFSF FOI= 5 5 5 5 5 50
BERBER
No E F A W Q H&i B
1 #RiE HE 40 4.0 80 4.0
14 FIE Kib 3.0 3.0 6.0 3.0
16 EB Z& 1.0 1.0 2.0 1.0
18 X% Bg 20 2.0 40 2.0
20 ME ZEt 6.0 6.0 120 6.0
22 INFFSF FO= 5.0 5.0 10.0 5.0
1 Z e
3 KEFF
4 INZE
5 HLEBE
6 SiEET]
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LEE BREESRE F R & S-S -4& w B BfW Q
111030296 C B3 =X it EF B OW R
2 11020129 C D &M O #HBF OB 1T
3 11036631 C T fh— I% #& B OB ERB
4 11050268 D =F fiZ A ZH OB 1T
5 11040657 C %% % BB RT B OB ERB
6 11030282 C E# 18 IBT KT OB 1T
7 11050395 C RiE & IH Ve =B AR 40 4.0
8 11040156 C FEIE Ihts mis =X B OB ERE
o 11050222 C Il —== SiE BT OB AR
10 11030317 D #M = MIE BT OB 1T
11 11030198 C AF fE— BE AT = 2
12 11040582 C HY) Z— NIl E£BF B OB ERE
13 11036644 C O +— Lo BF B OB 1T
14 11050310 C FE& Xith i Fh = OB =3 3.0 3.0
15 11020232 D I £ TH =7 OB 1R
16 11040707 C EIF Z# 5 & = OB B 1.0 1.0
17 110302711 C A% —E§ Fft =T OB 1R
18 11040721 C 25 B®E BA ER B OB E2fm 20 20
19 11060227 C E&N_ B 25 LRT OB 1R
20 11050273 C W& Eth BE BEx = OB E6ML 6.0 6.0
21 11020017 D #E =i BmE BT OB 1R
2 2 11030297 C NEs% FI= NG RIS B OB E5f 50 5.0
23 11030032 C him ®X NGE BT B OB ERE



